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TIS QUEstion paper vontams (v sechions, Section A to £,

A questions e compulsony,

Savian A has 21 questions can g 01 maik cach.

Necnon B has 07 Very Short Answer tvpe qQuestions ey 02 marks each.
Nection C has Od Short Anawet D questions cartvma 03 marks each.

Section D hav 02 Long Apawer tpe questions cartving 04 marks each.,

ToNecton E has 03 questions canyving 08 marks each.

Time: Ihrs
Max Marks: 70

SN programmimg questions are to be he answered using Python Language only.
L SECTION-A
| \ | - - ~Question Marks :
LNl - —
N \\ h s the return (\;\ of fanction 1d? I
R )] nm ) oat ¢) bool d) dict
yl ‘ \\ hat error veeurs swhen v vou ou execute the following statement? [
1 ! apple = mango
1‘ | a) SyotaxEror <D Nhmelror ¢) ValucError d) TypeError
B Caretully observe the code and give the answer, l -
‘ def examplega):
a=g+'
a=a¥
return a
>>>example("hello™
ot indentation Error b) cannot perform mathematical operation on
strings
¢) hello2 d) hello2hello2
4| Aryan created a table(Students) with 5 rows and 6 columns. A fler few days l
based on the requirement he added 3 more rows to the table. What is the
cardinality and degree of the table?
a) cardinality=6,degree=3 (bﬁ?l‘(lix1allit)=8,dcgree=6 b
¢) cardinality=3 dearee=8 d) None of the above
5| Whatis the output of the following? 1
print("xyyzxyzxzxyy".count('svy', 0, 100))
a2 b) 0 o)l d) error
6 | Whatis the output of the below program? 1
def func(a, b=3, ¢c=10);
print(ais’, a, 'and b is', b, 'and ¢ i', ¢)
fune(3, 7)
func(25, ¢ = 24)
| fune(e = 50,2 = 100) N
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7 | Which of the following statements are true? 1

a) When vou open a file for reading. it the file does not exist, an error accurs
©) When vou open a file for writing. if the file does not evist, a new Sle is created ¥
<) When vou open a file for w nung. if the file exists, the existing file is
overwtitien with the new file ’
d;/-\xl of the mentioned °

3 \\ nich of the rb.‘;lo\\'ing- is equivalent to random.randint(3. 6)° 1
a) random.chotee([3. 6]) b) random.randrange (3. 6)

| ©) 3 = random.randrange(3) 4¥3 < random.randran nge(d)
9 | Entries in a stack are “ordered™. What is the meaning of this statement? 1 ’

a) A collection of stacks is sortable ;

b) Stack entries may be compared with the *<’ operation !

d The entries are stored in a linked list |
There 1s a Sequential entry that is one by one

-y
]

10 : Bndge works in which laver of the OSI model? d t
i a) Application laver b) Transport layer : ‘-
| ¢) Network layer ‘d)Data link layer | |

| 11| SMTP stands for = ]
| 2) sample mail transfer protocel b) simple message transportation protocol |
L,ergﬁlpk mail transfer protocol  d) synchronous message transmit protocal

12 | Which of the following statement will revérse the list L1? L & 1{
\ a)L1[::1] b)LI[-1::-1] o1 d)None of the abave ;
13 | Out of one or more candidate kevs, the attribute chosen by the database ‘: 1 f
designer to uniquely identify the ruples in a relation called of that [
relation. ( !'
Mlm' key biforeign key  c)composite primary key  dlalternate kev | J
14 | The loop else statement is executed when il ;
a)the for loop is executed for the last value in the sequence "I 1

b)the while loop test condition evaluates to talse

“)kv{[h aand b

| d)none of the above
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|15 | Hub decreases the traffic in the network whereas switch increases the traffic in |

L [
| the network. (Ture/False) ‘{;:u'}/k |
16 | Which of the tollowing expressions evaluates to Falsa? | L .
ay~ not(True) and False |
b) True or False ?
c) not(False and True) :
d) True and not(False) }
I7] Which of the following is an invalid identifier? 1
(2)_123 (b) E_el2 1) None (d) true |
I8 1 Which of the following is a DML command? |1
(1) DROP ___(b)INSERT _ (c) ALTER  (d) CREATE |
19| Which aggregate function can be used to find the cardimality of a table? |
a) sum() }
_,_/b’f/ count() I .
‘c) avg()
d) max() i
|
20| Assertion(A):Python uses immutable types for call by value mechanism | 1
Reason (R):in the call by value mechanism, the called function makes a
Scparate copy of passed values and then works with them.
a) Both A and R are wrong b)A is wrong, but R is right
¢)A is right, but R is wrong <UJBoth A and B are Right
21| Assertion (A): Python automatically flushes the file buffers before closing a 1
file with close () function.
Reason (R): when you open an existing file for writing, it adds the contentat |
the end of the file.
a) Both A and R are wrong b)A is wrong, but R is nght
L OATSright, but R is wrong d)Both A and B are Right
SECTION-B B
22 | Write the output given by following Python code. 2
x=]
def funl():
x=3
X=x+1 ' L’ '
print(x) 7
def fun2(): @
e vkt
print(x) L udhata Lovapls '/
funl()
fun2()

|
|
.
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What do you mean by d

e Te N — - = > s h 1 5 % y - ' 3
Glianli parametars? Explain atth the hels of @il
[ oxample.
2 -3 B B ~
29 -t Ty away S & e o S TN I — -
S 1) Write the SQL statemeant 10 233 2 n2id Comnvy Codaijol npe Imtao=) o0 B!
| . = . == e il
" B £13 o 1 !
| e table Countmies with the followsns Sald< AASLY =g
| --—: —— e - ‘\
~ Sy~
N - ~ ~ N - ey ~3
| Country_1d. Counmy_name. Continent. Reglon 33

SIS D DAL commend? Qavp T
1
DELETE FROM. DROP TABLE. CREATE TARLE INSERT INTC
S
24

What are the possible outcoma(s)

. specify the maximum and minimum values thes oz be 235 enad 10 veEmizble N
| 'mport random
\ < - < i ST W, —_ -
‘ SIDES=["EAST"."WEST" "NORTH"."SOUTH"]
N=random.randiny(1.3)
ouTt=""
for Tin range (N.1.=1):
OUT=0UT=+SIDES[1]
print (QUT) .
s
o~ . \-E AT \
) SOUTHNORTH J
{1} SOUTHNORTHWEST
(1) SOUTH
(v) EASTWESTNORTH
25 | Wnte two points of difference berween Bus Topology and Tree Topoloay. 2
OR
Wnte two points of difference betwaen Packat Switching and Circuir
Switching tachnigues?
26 | 2
ADRND | NANE STRTAN ‘ PONT ST
101 Stahz D Dunmeas Admmn | RS RS UL
102 Aman Bratanp No=enie ]m":#-ti::-l =
103 Shin e ST es | Syzzaxcca a.
102 Raeda Busaress Addnves | rx>2xwza N as
10% L Y ¥ vines Aty | x>assaxy <
100 Ragthaon P TS NS O 0S [ESSECER | >
o At et e At SO0 Lo | ~a2isasay | e 1

Write the output of the queries (2) to (d) basad on the table SCHOOLADMIN
aiven above:

a) SELECT max (DOB) FROM SCHOOLADMIN:
b) SELECT Name FROM SCHOOLADMIN WHERE STREAM"Business
Admin® AND SECTIONISNULL: ¢ =W s

¢) SELECT count (NAME) FROM SCHOOLADMIN WHERE SECTION IR
NOT NULL: 5

d) SELECT count (NAME) FRONM SCHOOLADMIN WHERE SECTION 13
NOT NULL AND STREAM="FINE ARTS™,

-

= ~ )
2~ D | Bke

o
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27 ] Rewnrte the followmg Pyilion program afier rentos i Al tie Svntavtieal eraaes |
cfany), underhinmy each correcting

|
Jef chevkval; |
oy |
NoanpucCEneer a nmber) ;
irx %2 =0 ;
print(x, s even a
. |
tufelse it x-0: |
PrniN.should e posioy ™) l
else; |
|

|'H'il'|l X odd™

(a) What is iﬂ&:\mpul |n:mh|\'."c'd Iy the fOlowing code w
d1={"0"6,7.8].50 (1,20 3)) ’ 'l
print(d1 values()) l
) 1 (1.2.3).16.7.8] ) i ]
_BYTT6.7.8].(1.2.0)] (G |
¢)[6.7,8.1,2,3] ‘
d) (“b7ah) ||

\\. » 9
(")/f-f‘/'”\

(b) What is the output of given program code:
listh = range(100,110)

print( listl.index(105)) | \(

(a)d © « ABYS ()0 (d) Ervor ‘I' '!,
SECTION-C | § \

29 | (a)Write a functon m python to count the number of Times i “POTN e tha . 3 \
begins with Upper case character, i ',

OR | |

Write a function m python to réad lines from file "POLENMAINTT and couni how ‘ |
many tmes the word “INDIA™ exists w die, | |

30| Write a function in Python PUSH(Num) where Numy isa st of imeper | 3 |
numbers. From this list push all positive even numbers into a stack maplemenied , ‘

by using a list. Display the stack it it has at least one element, otherwise display | '

|

appropriate error message. ;

OR 4
Write a function in Python POP(eities), where vities is a stack implemenied by | f
a list of city names for ep. cies="Dellin’, Jaipur’s "Mumbai’, "Nagpue'] The | |
function returns the value deleted from the sack. :

31 | (a)Sonal needs to display name of teachers, who haye ™
character in their nmne, She winte the following query.

SELECT NAME FROM TEACHER AWHERE NAME = “8302%,
But the query is'nt producing the result dennfy the prablem

0% asthe thind 1)

L L (b)Write output for i )& (V) Dased on table COMPANY and CUSTOMUR,
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) |
COMPANY CLSTOMER |

|
|
|
| | ’ , . | —— |
| NAME | . : it ‘
(Di NAME & OM |FRODUCINAME el wuove |PRICE| QTY| D | |
i 30NY DELHL TV M {ROMANSHARMA  Mam | D | |
20 (NOKIA  MUMBAL | MOBLLE | M IDEERKKUMAR AT 10 e |
‘ | ! !
BIONDE DR v |0 [MOEANRLMAR® 30 5 | s |
. (s et aane 2ol 3 ! m '
HEEUN MUMBAL | MOBILE oW “.‘.‘.HLM\H.L LIERE N
| 227 At AU RTTOV e ] " [0 TNEHA S Bl T
3 | BLACKBERRY  MADRAS | MOBILE 5| NERASON mieee) B } |
‘ ‘ 05 TSONALAGGARWAL 200 | 5 733 | ‘
|| % DELL DELHI | LaFTOP i |
' o Lo | Im JARUNSINGH R0 5 | e |

| LSELECT COUNT(*), CITY FROM COMPANY GROUP BY: CITY:
LSELECT MIN(PRICE). MAN(PRICE) FROM CUSTOMER WHERE
QTY>10: : :
HLSELECT AVG(QTY) FROM CUSTOMER WHERE NAME LIKE “Yars:
iv.SELECT PRODUCTNAME. CITY_PRICE FROM COMPANY. |
CUSTOMER | ‘
. N |
V.WHERE COMPANY .CID=CUSTOMER.CID AND .? !
PRODUCTNAME="MOBILE": ' |

| 29 | Uienn Crmrs s ) = - - - : —
{ 32 ; Write a function EVEN_LIST(L). where L i< the list of elements passed as I3 l
! | argument to l,hg fgnctnon. The function returns another list named “evenList’, | I
| that steres the indices of all even numbers of L Aol Buroan BAY (L) l
|| For example: A ]
| TINIT A e ]
IfL contains [12,4,3.11,13,56] ,} o~ (N ™ | )
The evenList will have - [0.1.5] 5 L\ YT wkjl"‘s a)
| ~ T retinly @
SECTION-D . ,‘LADi )
33 \\.ntc a p:\'lhon program 10 create a esv file dvd.esv and write 10 r&epbNALL : 4
with the following details: Dvdid. dvd name, qty, price. / ; ,
Display those dvd details whose dvd price is more than 25 !
Consider the tables below to write SQL Queries for the following: | 4
TABLE: SCHOOL I
CODE | TEACHER SUBJECT DOJ _PERIODS | EXPERIENCE | |
1001 RAVI SHANKAR | ENGLISH 12372000 PN 10 |
1009 PRIYA RAI | PHYSICS 03091998 % n .
1203 LIS ANAND ENGLISH 090472000 o4 5 |
1035 YASHRAJ MATHS 24872000 1 13 L
N3 [CANAN PHYSICS 167/19%9 = 3 ;
1167 HARISH B CHEMISTRY | 191019% o 3 ?
1215 UMESH PHYSICS 11051998 n 16 l |
TABLE: ADANIN :
| CODE GENDER DESICNATION
| 1001 NMALE VICE PRINCIPAL
1009 FEMALE COORDINATOR
1203 FENMAILE COORDINATOR
1045 MALE HOD
1123 MALE SENIOR TEACHER
1167 NALE I SENIOR TEACHER
1215 I MALE HOL
S —— ]
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Q) Suggest the most appropriate location of the SOV sde the
- CHENNAT campus (ont of the 4 Butldings), o et the best COUBCTIVIEY By
L maximum ne, of computers. Justid vour answe, |
o Suggestand draw the cable lavoat ctlieently connect varions !
- butldings within the CHENNAL CAMPUN e connecting the sompaters., 7
S ) Which hardware deviee will YO steEest o be procied by ihe ‘
| vompany to be wmstallad w protect and contiol the intermel uses hin the ‘
| campus?

(V) Which of'the following will Yot sigrest o establish the online face-ta-
face communication between the people i the Adiin Otice of CHENN AL
| campus and DELHE Head Otiee?

[ (@) Cable TV
}

(b) Email
(©) Videa Conferencing
() Text Chat

e i i ESCNY
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Statement 2 _ 0 execute the querv th
whose salary are greater than 53500

Statemenr 3- 0 read the complere I\.SUI
| greater than 33500 i;
database.

Import Mysql.connector ag mysql
defsq] dara():

conl=mysql. connectthost="localhost" User="root" password=" ‘root@ 123",
database=" management")

mycursor=

4l extracts records ot those €mployees

" (records whose salary are |-
the tablc employee in the

=Statement |
pring(’ ‘Emplovees with salary greater than 33500 are : "y

Coen, ey ,-'—T'Stz;iﬁel en 0 ﬁ il it i
data= acls 4 MoA ¢ b“,,q'q( j‘t‘/'*f—‘.-‘btatcr:‘ment 5

27 ]
ST
for i in data: .
pring(i) .
print()
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